int start()

{

b

int limit = Bars - IndicatorCounted(); ¢&— (1)

//%K
for(inti = 0; i < limit; i++)
{
Numerator[i] = Close[i] - Low[iLowest(NULL,0,MODE_LOW,K_Period,i)]; ¢—— J7
Denominator[i] = High[iHighest(NULL,0,MODE_HIGH,K_Period,i)] - Low[iLowest(NULL,0,MODE_LOW,K_Period,i)]; ¢—— ,]/

if(Denominator(i] != 0) €—— J
{
K_Line[i] = (Numerator[i] / Denominator[i]) * 100;4¢—— T

b

//%D
for(i = 0; i < limit; i++)

{
double Sum_Numerator = 0; —
double Sum_Denominator = 0; J
for(intj =1; j < i + D_Period; j++)
{

Sum_Numerator += Numerator{j]; ’]’ "
Sum_Denominator += Denominator{j]; (3)
}

if(Sum_Denominator != 0)¢—— J

D_Line[i] = (Sum_Numerator / Sum_Denominator) * 100;¢—— T_

¥

//SD
for(i = 0; i < limit; i++)
{
Sum_Numerator = 0; ¢—— J7

for(j =i;j < i+ SD_Period; j++)

{ o e <4— (4)
Sum_Numerator += D_Line[j];
}
SD_Line[i] = Sum_Numerator / SD_Period; ¢—— lj
}
return(0);




